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"~ AMATHEMATICS
‘:_l.'!fl'l.ildﬂ.‘l' the arfithmetic sequence 7,12.17
(2} Find the common dillerece. e
;’h}] {;j-?d the 10th term.
€} What is the difTerence ol its 5% 258
(d} Is 100 a term of thie su:qu:nn:?mm =l
(€) Which term is obtain, when 60 je added to
(1) Is the difference of any two terms is 627
(£} Find the algebraie form of (his sequence,
() Find the sum of first 20 terms.

Tth L.m: Ewl'un arithmetic sequenceis 23 and its 10th term is 32,

(n) }':nu its I3thterm (b) Find its commen difference.

(¢) Find :IEE [irst term. (d) Write the sequence.

(¢) What is the difference between the sum of first 10 terms andd

next 10 emms of this sequence?

Algebraic form of sum of the sequence is4n™+3n.
\8) Find the first term and common difference.
(b} Find the sum of fiest 10 terms.
In the figure, AB isa diameter,
<P <Q, <R arein the ratio 1:2:3
(a) Find <0).

(b) Find <P and <R_

I the figure, O is the centre,

<OAC=40°Find the following

(2) <ACO<AQOC.<Band <D

(b) If <OAC=x and<B=y then

prove that x+y=90°

(¢) If <OAB= , <OCB=b and
<ADC=c then prove that atbte=180" )

A circle is divided in to three
seclors os shown in the figure.
The central angle of (st sector
15 60°. A point is rmrked in the
circle without looking.

a) What is the probability of the
paint o be in the first sectoc?
b) If the protabdity of point is in the sccond 'sector is 5/12.
What is the central angle of this sector?
¢} What is the probability of the point is on trd sector.
Two dice numbered 1to 6 In cad\,\_‘ﬁun ﬁﬂiﬂﬂﬂ
The numbers appeared on the tog fatm:li:ﬁre writtsn in

pairs.
a} How many sach pairs 7

10th term?
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7. A wooden salid cone has 2dem height amd Sem radiue

T

15, Inthe figure O'is the centre al's

*r}hzn the figure, AD=12cm and BO=Sem
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PPasite Verticss of rectangle with sides parallel o axegaee |

gven . Find (he : :
length ofihe dis g Ty atler fwo W S e

—
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cinekand <PQR=50°
(a) Find €S and <QOR

(b) Find the <,

{4 Find the length of AC.

() "FTh:J:['lhr; lengths of AR BP and OO R
(c) Find the inmdius

8 (d) Find the arca of AABC,

Curved surlace aren of solid

here is 30en?. Find area of the flat face and find its
1 surfhee aren

{2) What is the volume of the cone?

(b) What is the laterul height?

A line is drawn by joining the points A(2,1}and B (14, 25)
{2) Find the coordinates of midpomt of AB.

(b) Find the coordinatza of the poaint P on AB such that
APPD=]13

() IFC03,3) then prove AB,C are on the same line

19. ABCD is s parellelogram with A(5,2), B(15.2) and C(15.8)
(2) Find the coordinates of the vertex D,
{5) IFP.QR and § are the midpoints of of the sides AR, BC,CD
and AD then find the coardinates of P,OR and §.
(&) Prowe that PORS is o parellelopmm.
20, Aline is drawn by joining the points (2,5) and (4,11).
(2) Find the eaordinates of other two points on this line,
(1) Find the glope olthis hine.
(£) 17 {3} & 1 point on this line, then prove that (x+2, y+6) is
ol poirt on (hs line, o
AABC, AB=20cm, BO=2Scm B= Prre that y ooondinate of any pointon this line is ane less
:}M the length of the pemendicularAD ﬂums l.im:.nnl: x peondinate. . L
Sy flo A 40 Bﬁ?ﬁ? ;ﬁ% e 21, Asirele with origin o centre possing through the point (12,7). |
gﬁiﬁﬁmm [sin3T=0.6] Find the radius and equation of this circle 25
Draw X, axcs, mark the following poink, joint the catsec- | 3 17 Jigpesd - x* +Kx + K. (s-3)1s 8 fhctor of this pofiaomst |
five points Io form a polsgon, Wrilc its sultuble e, find the (o) Find I'(0) '
sidles and. and write the sguation afdngs- (B)Find the nuniber K \
mls: (2) 2242222, ;z,g () Chask whather (31} is another
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